S, ¢
K K
| XK
4 X

Say you guess a square, and it is a HIT.

A B C D

A4

What is the probability of sinking their battleship if you
pick Al next?

12

BATTLESHIPS

“MIss!”
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Now let’s use a bigger grid.

> X
: X

10

Draw a battleship somewhere in the provided grid. This
ship should only be in 2 squares long.

With the person next to you, play a game of battleships
while counting the number of guesses it takes for
you to sink their ship.

How many guesses did it take?
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In each square, fill in the number of ways a
battleship can be positioned in it.

For example, in square C3 a battleship can be positioned 2
different ways:

|

A

il ==
A B C
1
2
3 2
Out of possible positions, the battleship is in A2 in
of them.

This means that the likelihood of a HIT if you choose A2 is
out of

Which square is most likely to be a HI'T?

Draw a bar chart of this frequency table.

Frequency

Number of Guesses

What was the most common number of guesses?
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